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gob 1:0booboooboooo

#include <stdio.h>

int main(void){
double hoge=1.2345678¢e —2;

printf (0000 DOOOOMmMO = %f\n”, hoge);
printf (00000 OO0O0O0MO = %e\n”, hoge);
(
(

printf (000000000 MO = %0.5f\n”, hoge);
printf (000000 ODO0OO0OMMO = %0.2e\n”, hoge);

return 0;

obd 220000000000000000

#include <stdio.h>

int main(void){
const int a=246;
int b,c;

b=a;
c=b;

a=c;

return 0;
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[01] OO0 3000000000000 00 a0gOO0DOOO [70]

[02] 00040000000 [ 0 JO0Oa/pO000000 c00007500000[ 0 00000000
000000 B

ooo 3: 000000000

#include <stdio.h>

int main(void){
int a, b, ¢, d, e, f, g, x;
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at=x;
b—=x;
Ck=X;
d/=x;
e%=x;
f++

g——;

printf (?%d\ t%d\ t%d\ t%d\ t%d\ t%d\ t%d\n” ,a,b,c,d,e,f,g);

return 0;

obd 4. 00000000000b0o0

#include <stdio.h>

int main(void){
int a, b;
double c;

)

a=3
b=4;

[ © |

printf (”c=%f\n" ,c);

return 0;
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2.1 OO0

[0 1] cOO0OOOUOOCOUOOCOOOOOUOODOODDOODOOOODOOO 20

(O] 5+7

(O] s<7 (07 &==7 [O01 Os5t=7

(01 (10<3) && (5<7) (01 (10<3) || (5<7)

(02] O012000000000000 (O10[E]100000000000 [70]

(il 1) {
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X2;

A ]t {
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X4;

YA ] GiliEniad{
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36,

1 IV Bt
X7,
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G4

A T siin :
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32;
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A ]

[F Jesta:
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£ ]
X7;

8;
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3.1 0OOO0O
OO0 50 1010000000
sum=1+2+3+---+999 + 1000
000000000000000000000000000000[_ 0 po00o0ooooooo

[01] 00000 whileOOOODOODOOO [50]
[02] 00000 for00000ODDDOO 501
(03] 00000 dowhileODODDOOOODODO [50

obo 5 00ooboooooooo

#include <stdio.h>

int main(void){
int i, sum;

printf(”10 010000 0 0 00 0%d0O 00 \n”, sum);

return 0;

}

3.2 JU0OO0O0oOoooD
oooooo
f(z) = =52 + 62 + 6sinx — 1000 £ = < 1000
0000000000 000000000000000000000000000000
e JID0IOODD 0000000 00de=0.001000000

e J0UDOD f(x)DDDODD 2200000 DO0OODODO



